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PART-A/s-qst

1. O Define inrroluntary unemployment. l
vfiq1u frq,<K qler fr{l I

(ii) What is effective demand ? 1.

q&fr uifol ftz

(iil \zVhat do you understand by depreciation of capital ? 1

F',s1-d-< ErsG TfuE ft Tq.rr

(id GNP = GDP

GNP = GDP I

(Fill in tlrc blank)

1

&tfr ttr tE o<rl

k) \uVhat is foreign exchange market ?

M+ Rfinr <qr< ftr

' ki) Which of the following transactions are included in the current

account of Balance of Payment ? 1

'iRct't'<< 
qrq< uBo Rutqu fr'yfrf?i\o csllr$ti cq{rq-{ ye(c qn I

(o) Import and Export of goods

E{rd q.Enlft q-a, affi

@) Import and Export of services

ci--{K \sirnfr \m<, <gtfr
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G) Unilateral transfer

q${fi{ €is<

(d) All of the above

€ei<< {Or"dTKi<

(Clrcose llrc correct oPtion)

&w ffit <t@Gfre<t)

2.WritethedifferencesbetweenGDPatmarketpriceandGDPatfactorcost.
2

<q]< q<e GDP qr13 $exq5 <l-{o GDP-< {]q< "ficfsJ le"lit

oR/qam

write one simllarity ancl otte 'Jiffetence between intermediate goods and

1+1':2
capital goods'

3. What clo you understand' by 'Paradox of Thrift' ?

'q<c{-< < Frs{ftsK qJqi-<' $m ft {et z

{<Kfi E-<l qi<" En{ft E-<r< 44 {iT'il qi<' '44 "fiqfu fi<I i

t3l
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OR/qel4l

What is aggregatc supply ? Explain.

R{fa6 cririln ft, *-rr? fi"ir r

4. Writc lrrro differences between direct tax and intlirect tax.

?ElE €< sl< lt-R)E K< nrs-< ra "nafo fr<r r

5. What ar.e the components of high_powered moncy ?

Er:l=l-et:T-'ra {sr< EqmnqT<fr fr?

oR/q4ill

Definc llank Rate and Cash Reserve Ratio.

C<<S q-< q'r<. frtr" CiaS6I qrd"ilg.< Tii6l fr{ I

2

2

1+1=2

6 write rz,o differences between Barance of payment and Bara'cc of rrade.

qRril<r< rrst qr+ <ifieF qrq< Il,s< fDl "nqfu fr?f r

7' write in brief the idcas of fixed exchange rate and flexiblc exchangc ratc.

2

fu frFlx q.'< qr<. ffi<\fu,fiE frfim q<<, r<ql kil ffi ftrr
32r ECON t4l
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8. What is investment muitiPlier ? If a new investment of Rs' 300 crore

increasesNatiorralltrcomebyRs.1200crore.calculatetlrevalueof

investment multipiier' In this case' what wiil be the value of MPC ?

1+1+2=4

ftFimiri s6iT fr ? rfrcq soo ffi i'or< qx-a frfrmrtat qr3a qrx 1200 ceIE Rsi

{h <t-< csrs ftFtl'in sq6< lta siqrl GI I €k'FEs' MPC-< {id fiilr{ E3?

oR/q?r4l

Briefly discuss the components of aggregate demand'

fi{Gs fifu1< Ecntnq{{ qqfF("I \rlf61lE{i s<1 I

g. Write differences between the following concepts : @ny tzuo) 2+2=4

Crsaprs tt<qlcg< niq< "ilafcl fr{ : fffi fAF)

O Autonomous investment and Induced inveslment'

{e-q Rfrcfiti qa lNfuero FFr{Itil

(ii) Ex-antc consumption and Ex-post consumptiou'

e-elFis E"fretsi q-a ffis E"nstEt t

Cot d'
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(iii) Marginar propensity to consume and Marginar propcnsitv to save.

g'tiB$ b"rfetq g^<q\I \xl<, slt.$ l.sT &<qq* I

(ir) ' Marginai propensity to consume a^d Average propensity to consume.

slfus E'ffer'q eKclEl q.l<, ,is EriZ-sr.q ef<qEit

10. Discuss four mainfunctions of Central Bank.

6s-frT KKx. Dlffil 1<f sffi qlTElE-"TI. c<l I

oR/qq4't

Explain how commercial banks create credit.

<Ifal&ls c<irs cg-cdqr< <,q {E s-c< <lTql.t F1'l

11. I-.riscuss the components of Government Budget.

4

4

t6l

D-<-sR Tlffi{ u"il4rdq{q qz-6Tlb-{r. s-<.r I
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oR/qalflt

1+1+1+1=4
Define the following :

Eqs fi$q{E( r(El fr{i s

(i) Fiscal Deficit

<lEc$ft qIF

(it PrimarY Deficit

31ffi+ nf;

Ait Plannerl government expenditure

qfisBs u<sIR <l.q

(it| Non-plantrecl government expenditure'

"ifi$q-{i-<Ri\5 
646ft at< 1

12. Explain how GDP is calculated' using Income method' 6

qiT q6F< r"{x\5 F(ar(< GDP 5iq{'i Gi q-{' <'lqfi cl'l

oR/qel<{T

Discuss the reasons why GDP can't be used as an index of country's welfare'

6

GDp s c4.i .q"ld1 aq1''\< Ws Rt{ <J<{< +R< crtci<i< sK"iqTq q'I(4iE{i {<l' I

Contd.
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PART-B/ ?t-qfi

L3. O Define sustainable clevelopment.

<s".w E-fl-s-{< t-(Bl fr$ I

(it During British rule, rJecay of Inclian hanclicrafts was causerl by -

ffiq "m-",.ora-u -\el<s< {gnE< elEa< oRq. qlfu. _

(n) Discrinrinatory tarrff policy of thr. British Go'ernrnent

effq D-<-o<-< RrsqTqs ss fr&

(b) Competition from machine-made products

vq-frffi w< "rdr r-{f,{ e_o s&rafiEi

@ Changc in patterns of rlemand

fifur< <i<.K {ffi{
(d) AII of the above

€q-{< q-$-(E.imi<

(Choose the correct option)

(e6 @r 1R 6tEvlt)
(iii) In whicll year the NITI Aayog was formed ? 1

frB (ruru) qr'Rlri mli'E-re uih mr ?&r
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(ir,) what is the ,lifference between 'Labour Force' ancl 'work F(lrce' ?

1.

rp6r1ft'\TK.?ffi&k Tlq< "flcfodi ftr

knMentionoilesimi1arityoftheeconomicpo1iciesadoptedbyIndiaanc1
1.

Pakistan.

vi<s qI+ 
"itFF-st6 a:16r ci qcfuBs fre< 'qElqlw srs{ 6di.t

ki) 'The 'Great Leap Forwarcf' campaign in China focused on __ 
l

(Choose tlrc correct oPtion)

(eaffirffihfreo)

Contd.

fi-{< 'q.-{a[fl Tqq q.t"l (Great Leap Forward)' qffiaa 1tf s<"q

qlk-

dn Privatisation

<l&tIo-$fi

(b) Widespread industriaiisation

trmfi-mq< meHf<q

@ DeveloPment of services sector

c{$ ?ls< fr-sFl'

(d) Economic reform

qqffio q(E'K
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14' Mention fur'o major indushiar sector relorms in the Indian economy under.

the policy of liberalisation. 
2

W<q ftC wg-R si<-6x qqfrG< Bcqm <1su oq1 Gr 1fre+v1"1.l1wr<

Bes{ ctr

oR/q441

write about rzrro positive effccts of LpG poricies in the Indian economy.

2

ei<Ql qqftfts LpG fr18< IE rnmo ssw{ f+{c{ fi?,T,

15. Write fzoo merits of GST.

GST-< fa1fr$ fr?il I

32T ECON

2

oR/q*t

\{hat is demonetisation ? Mention one positive effect of demonetisation in

the Indian economy. 2

fiqal<.f ftr srq6a qefr&-\r= Fgm"r< qA fiys erq< E-cg.{ cI I

[10 ]
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1,6. What is structural composition of an economy ? As on202!, r,r,hiclr scctor

contributed highest to the GDP of Ind'ia ? 1+1:2

qaftfu-< {s&&-s sidF fr ? 2021.8-ds m'l{(t.i "is? 
v'Ks-< GDP ?E n-ii?:.

T<gt.t 6d|rl't<q?

oR/qerflt

Write frtro characteristics of small-scale induskies'

sE V6q11ri< aD ?<fiEl fr<tt t

17. write tztto differences between economic in{rastructure

inf rastructure'

qcftilF+ qissfiqfi qK TrTi&-$ =lt"01<R< fA {*fsJ frqlt t

oR/q?rflt

write about fz00 problems faced by the power sector in India'

2

and socia.rl

2

[11]

vxs< .rtb qe? qqftq 6ffi fAqrqr< F{H fr{ t

32T ECON
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-
18. Write any fuuo measures untlertaken by the Clovernment of Inelia t9

improve agricultural marketing. z

1fr <qt< <j{EK u{Rffi <lu< si<s D-<-o'RK oTr s-di fundr ffi clqmna fi{i 1

oR/qw

ltvhat do you understand bv diversification of agricuiture ? z

TR< f<fur$<.r'{Cro fr :Str

79. What are the tlvee mainapproaches undertaken by Governmcnt ol lndia

to alleviate poverty ?

qRwt qA-sEK rrm vrcs u<-stm aei Gt F fr& frffitft ftr

oR /q{4t

Write a short note on MGNREGA.

MGNREGA-< R{c{ tr$s ebt 6lrr fr*x r

:

32T ECON [121

2

2



!

Cnntd.

20. I)iscr.rss the goals of planning in India'

sr<s<ft lF<56n< EIrniq{q qlf615-dl' Fr' I

4



E-:!

(ii) write f?rro reasons for slow econolnic growth in pakistan. 2

"nfrsra< T{< q<fuG$ 1k.< 1rtsrcq fr<t I

22. . Write about different types of unemployment.

R<Tsi< ReH s$t<l{3< fi{cn fr?tr r

23' Is economic growth, a cause of environmental degradation ? Justify your

allswcr. 
4

4

qqt{Gs U{Ra {Rc<l'kqE cqfsr< errt='s6q .frz Com< UE<< t,?F {fuTs-ef

s]lTcuT<f I

oR/qE4t

O Write frtro causes of global warming.

(ritE-f,r Ercst 1fr-< fD, +r<"i fr?h r

(it Suggest lroo measures for attaining sustainable development in Inclia.

ef<-s<fr Tqv+.{ EEaa SffE< rl1< fA q<N,f qtai<p131 
r
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24. \Mrat is organic farming ? Discuss its merits ancl rlemerits. L+5=6

ffi$ TR fr? ?lK {Rqt qr+ qeRqrrqq qlrorE{'l s<r'l

oR/q*rt

What is Human Capitai ? Discuss the sources of human capital formation'

1'+5=6

$q-< qn<a frr rm Eafi aifa< Bqmqq qlclD;It €{il
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